Algebra 2B Chapter 7 Rational Functions EXTRA Test Review
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1. Simplify Expressions AND Solve Equations. Follow the steps in your notes!!!
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17. To balance a seesaw, the distance, d (in feet), a person is from the fulcrum is inversely proportional
to his or her weight, w (in pounds). Roger, who weighs 120 pounds, is sitting 6 feet away from the
fulcrum. Ellen weighs 108 pounds. How far from the fulcrum must she sit to balance the seesaw?
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Graph a sketch of the following polynomial
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25. Graph the following on graph paper labeling x & y intercepts, vertical asymptotes, horizontal H‘b\e M

asymptotes, and holes if any. 'Z
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